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Решить уравнения: 
2. (sin x + cos x)4 + (sin x – cos x)4 = 5cos 2x + 1. 
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8. Решить неравенство .031sin)32(2cos ≤−−+− xx                                             
Решить уравнения: 
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10. 2arcsin 4x = arccos 14x. 
 
                               Ответы 
 

1) 1      2) nπ
π

+±
6

       3) nπ
π 2
3

2
+±        4) 

24
nππ

+              5) 
5

2
15
2 nππ

+±  

6) 
3

2
9

nππ
+±        7) kynx π

π
π

ππ 2
3

,2
23

+±=++±=         

8) nxnxn π
π

π
π

π
π 2

2
,2

3
42

3
+−=+≤≤+−        9) 3±        10) 

16
1  

PDF created with pdfFactory trial version www.pdffactory.com

http://www.pdffactory.com

